RieZEEH

=%

R6YX FEEHEM MpE-#H BSHEBEFEIS

OREBHRO

TERSS NEITE
HifhX RAT R 1
BiEFEREAR & 714 3A

Mg - TEIHFAT

WIERL AR EISFTA—
EXITEWER)

HRRXBED

B 488
&

II n_.\

[RESEZEN] FALSMEOLET ?%ﬁIE
BIFEEODRFBFEYD-HO—EBRTHY. 55
BT ERIT H5EHEDTIEAEL,

AIEXHEE HIEZITHIELY
L HIERALE FHIE L7
RIGIRIENES L L%
BWFERETILISE BIERL

[CHROZBEMIE




BXETERZE (K01)

T#4 \R6TX WEREM I - ESEREELE [y S PNF P
THERXS e
TSy « TfE - FERI - #0510 JEA% HANL P B &%E Bk - SKEHE e
e
= 1
5= % T A e i T
2V 1
EELT
2V 1
RV (FEHI) RN R
m3 25
NTIREIA TE L0, FENA B =L R
m3 25
ARA T
2V 1
PR E 3 AT W 3E
m 96
L5 N TE R
t 2.
(RN X
= 1
Hosm %
= 1
Im R (3KE )
= 1
Wi T
= 1
BlyG s gy
= 1

=
g

i
I




THE4 [R6V2 HAMEMM [E - F e LE FEX IRl B - Sl
TEXS it 23 Ak
THERXSy - T - &R - fp) JEA% HAAL Yo B &FA Yo - SFEH T
T =5l
= 1
— A P
= 1
T fmAs
= 1
T B B K OVl 7 T 2 B8
= 1
THHEE
= 1




N NN 2 EAME 4 A 2025. 03
1 /ﬁCE‘{ﬂﬂ% e Vickinde! 2025. 03
TSI 1.000-00000 0.0 0
Wooe PRIE Y (EH) 5w
HT m3 AT i B
TR - R e BT HE HA &% o
EEll T8, BIGHK & D
m3
&t
\, H,/m3
HiH
N NAWA HAffE A 2025. 03
1 /k E"fﬂﬁ% eazin ViEkinde! 2025. 03
T LR 1.000-00000 0.0 0
Wooom ANIEA T, EENE EEYL
HT m3 AT i B
TR - R e BT HE HA &% foE
ANFRHIA FE
m3
&t
\, 9,/ m3
HiH

=
IS

i
I




N NN 2 EAME 4 A 2025. 03
1 /’k @’fﬂﬁi@ A A A 2025. 03
— I35 o IEER AL 1.000-00000 0.0 0
WoogE LA 3 1 3 AN T
HAAT m BT E R 10 EAA
HR - H E ks BT W& EAA K} T 2
BA () ¢100Xx2,000
o5 J8 AL ER N T
ZiS 15
iR (#) ¢ 100X800
ZiS 15
AR HEEE
A 0.11
HLARASBS T
A 0.77
ILARALES T
A 0.13
MR (R ED D)
2V 1
AEF
Hifily [,/m




N NN 2 EAME 4 A 2025. 03
1 /k Effﬂﬁié A i 4E A 2025. 03
TSI 1.000-00000 0.0 0
o | B PN
o B t B | e
A - B e BT HE B &% o
N7 (FEA F~ S~ HED L) 200mLA T
m3 1
At
B M,/ t




RIREH—ER

ITE4 R6HY X E4AHEM M- ESEBEEIS
£ R BAfs B iy e
PN ¢$ 100X 2000 =208 PN 2,990

MK (%2) $100x 800 =B, Scit(+. mEY A 1,390




TEHER FX
THXS TfE vl gl Bk HAL$ &
it 5 A
el [ S T
(=
+AkRE m3 25
BEYL m3 25
E PR T
it T
AW N T 3iR m 96
B4 NS t 2.6




F1n TE—F RIS ERE

HE - b (2GR

el L] &t B A7
tabRE =150 NO.21+6.70~NO.26+2.70 96.0 m
tAakRE 2.63m3,/10m*96m 952 m3
HEHL 2.63m3,/10m*96m 95.2 m3
FUKFRT H=300 NO.21+6.70~NO.26+2.70 96.0 m
I 154%/10m*96m 144 K
REAR 154/10m*96m 144 K
G E 200.00 m
PiA 1444%0.0063 11 /A< 0.9
%N 1444%0.0157 md /A< 93
F 32 m
o 3.2m3%0.8t/m3 2.6 t




2% bmbRdse KK T BB 10m*4Y
HABHI H#ER
1574/10m
600~700 A @R
$ 100 L=2000
§ 7
LE LB
#12
e st tERE 5EE
SLKRE T H300
WL - A \
A \
oum, T 8
/i\—% 1000 1000
| A i B =B A7
FIAR(HIEZ) 9100 L=800  10m-=0.65 15
IARHT=D 0.05%0.05% 7t %0.8 0.0063
REARGHIEZ) ¢ 100 L=2000 10m-2m/A< X 3E% 15 &
IARHT=D 0.05%0.05% 7t %2.0 0.0157 m’
fﬁf/gf}i RELER 12 2.9 kg
1.0X0.15+1.0X0.15X 1/2+0.5X0.15X 1/2
R ( / /2) 2.63 m’
X 10.00
HEBL 2.63 m’




